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Cool off time : 15 Minutes
// General Instructions to Candidates : : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time.

® Use the 'Cool off time' to get familiar with questions and to plan your

answers.

® Read the instructions carefully.

® Read the questions carefully before answering,

© Calculations, figures and graphs should be shown in the answer sheet itself.
® DMalayalam version of the questions is also provided.

® Give equations wherever necessary.

® Electronic devices except nonprogrammable calculators are not allowed in
_the Examination Hall. '
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Answer any six from question = |1 o@ 7 ueowigs saiseyamgldd

numbers 1 to 7. Each carries | cpemslaye 6 agepalal gomeenimis.
three scores. 6x3=18) ‘ @osoonrilmye 8 (¥Ee0d allms. (6 x 3 = 18)
1. a) The number of subsets of a L. a) omymsmemlen selnemanaes
null set is ........... : LI 7 R :
o i) 1 "0 0 i) 1
i) 2 iv) 3 1| iii) 2 iv) 3 (1)
b) Write the power set of the | ) b)- {1, 2, 3} ogm wemaniond agiglo
set {1, 2, 3}. (2) DINEMEMmROSWIe WeMo {aloud
OMg) ) IDD. i 2)
2. a) If (x,y-2)=(3,x); whatis the 2 &) (x,y-2)=(3,x)cowodd y wpes
value of y? | afler agyom?
1) 2 i) 3 i) 2 ii) 3
i) 5 iv) 1 M L iv) 1 1)
b) A={1,2,3} and R is a b A={1,2,3}, R oG enicwo
relation deéfined on A by _ | ,. R={(x,y):x6 A ye Ax ;f_y}
R= {(x,y) txeA,ye Ax # y} apwodd R om wigleoniowld
Write R in roster form and . )93 @oaled @oo @oemyE,.  (2)
find the range of R. (2) | |
3. a) Write the conjugate of the 3. &) —2i + 1 agym ed0ogyesms moal
complex number —2i + 1 (1) — &ﬁag@mg oG s, D
b) Express the complex number
12+%;i in the standard form o 12%_2; PO G005 EN Moal
: 0 @GIOM TLOMOM) OlolnOW
a+ib. (2) '
a+ib agm dalela@d ageime. (2)
K-440 2

Get the | atest Question papers,
Not es and study resources.
Visit studentmap.in


https://studentmap.in/

STIII]EN‘?

4., a)

5. a)

6. a)

Find the value of 5P2.

b) Find the value of 'n':if..-. -

"P,=20-"P,; n>2

If the n' term of a geometric
progression is 2x3"7 then,
find the common ratio.

b) Insert 3 geometric means

between 3 and 243.

Find the slope of the line
passing through the points
(-2, 6) and (4, 8).

b) If  the above line is
perpendicular to the line
joining the points (8, 12) and
(k, 24),

of k.

find the wvalue

What is
P(AUB) G P(AﬂB)

i) P(A)
i) P(A)+P(B)
iti) P(B) ‘
iv) P(A')+ P(B)
b) If P(AUB)=0.6 and

P(ANB)=0.2 then, find
P(A)+ P (B).

K-440

-‘{2) ; =%

(1)

@ |

).

(2)

1)

(2)

b}

a)

b) .

a)

b)

a)

b)

°Py o allal eoemyds. (1)
"P,;=20-"P,; n>2 mew 'n'.
em el oeasnggn_ﬂs%eégas:. (2)
&0) rmm@mﬂcm CUREMIONeS N-So
alo 2x3" ! apesmel@ saiomy
CLL@IO00 06N, (1)
3 mpe 243 myp sl 3
eRPAEle: Al HBeg|SHomEs. (2)
(=2, 6),(4, 8) eyl mlicaymeeed
@S] BHSM Calddh)M CREIWIAS
m@«ﬂm“ (slope) &én’sp.ﬂélmgm (1)
(8, 12),(k, 24) ag? enfazee
gled 88 HSO ColodHI cre
mpgled eonldlenm cralwes
BloaldodMIacIssl® k-wes
aflal eenziafigles)e. (2)
P(AUB)JrP(AﬂB) £6Y
@ERBOIWD afy®? |
i) P(A)
ii) P(A)+ P(B)

- i) P(B)
iv) P(A")+ P(B) (1)
P(A UB)=06,
P{ANB) = 0.2 cowodd
P(A")+ P(B') eoeme. (2)
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Answer any eight from guestion

numbers 8 to 17. Each carries

four scores.

(8 x4

8. a) A x A contains 9 elements of
which two of them are (1, 0)
and (-1, 1). Write A in roster
form.

b) Draw the graph of the real
function f(x)=|x|.

9. Consider the statement

P(n)=2+4+6+....+2n=n" +n

a) Verify P(l) 18 true.

b) Assume that P(k) is true,
then prove that P(k+1)is
also trﬁe; ke N .

10. a) Solve the guadratic equation
2E-2x+2=0

b) HExpress the complex number
1+ { in the polar form.

1L, ) Write the general term
/ th
'K(r+1)b term)in the
binomial expansion of

. % <8
‘5 §
(x + o1
{ |
b) Find the term which is
independent of 'x' in the
apove expansion.
K-440

= 32)

(1)

3)

(1)

3)

(2>

(2)

(1)

(3)

4

8 oy 17 cueowgs salocyanglied

aQemssiels 8 agep@mial HOMEeaPI®)s:.

®080ormiimie 4 qigsod allwe.

8.

10.

11.

(8 x4

al AxA ogon wemewld 9
@ooIETmBaEE. @il 2 aggmo

(1, 0), (-1, 1) agilcu oo

= 32}

A o wemo aigleodimiiicd

ag)PITildh.
fx)=le[  ogom
og@aonied (function) oad’

b)

coealiw

QUOWBE))Es.

P(n)=2+4+6+...+%n=n"+n

Q)TN (dTI@OUM o i@lLemile)s:.

a) P(1) tal@oem olend
o I@IBUR0US B8 .

b) P(k)walwosemen’ aflaoalef

P(k+1) po wdiwosm agon’

emalelons. oales ke N.

22— 2¢ + 2=0apm allacm
qU@CLDEsY0 THBRLOBEMO 621,
1 + I ag)im Gehdog Joh) (ucaw
ee@len Galdgod  ©ialddled
Q).

9

A
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aflayellanematiag o) wldo
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12.

13.

i4.

a) Write the slope of the line
x+y =4,

b} Find the equation of a line
Whi‘ch is perpendicular to

and

x+y =4 passing

through the point (2, 4).
¢) Find the point of intersection

of these two lines.

a) Finhd the 9t tefm of the
arithmetic progression 25,
22,19, ccooere.

b) If the sum of the first 'n'
terms of the progression 25,
22, 19, ...... 18 116. Find the

value of .

Consider the equation of the

ellipse 9x° + 25y% = 225.

a) Express the equation in
standard form.

b) Find the coordinate of the

feei, vertices and the
eccentricity.

a) ¥ind the distance of the point
(2,83, 4) from x-axis.

b) Find the third vertex of the
triangle whose centroid is

24
iy ‘L

) and two vertices are

(0, 4, D) and (4, 5, 0).

(1)

(2)

(1)

(1)

(3

(1)

(3)

(1)

(3)

12,

13.

14.

a) x+y=4 ogm

aoiglal (slope) agvimye.

COELW6S

b) x+y =4 agom cosuwss) Rlosn
mo@me (2, 4) agm enllezaled
C @S] &S GalddhM®InOW

CREIWIANS TVACUIEL0 dHD6Md:.

c) @7  OME BOAIG:RIOSW)o

motmenfI(rs) densiallSleeb:.

a) 25, 22, 19,

m@ane ewyemlees 9-0o alBo

BHI6M)bs.
B 265 22 19 s o)
semlanes apeyecm  'n'

alesRees o 116 epwowd 'n'

e allel @0emis.

9x? + 25y% = 225 agm agelaimy

. eEBINETI BRI,

a) eoladd (TUE)O.IOOé:»bO MOMmOMmy
QIIBTHIC )P LD .

b) canosemmaeswio Ulidayema,
HsWo a0l o B,

agydmdSiavldl, ool @oem)e..

a) (2, 3, 4) oo enflogyadlad
X-@EHIOWG Womss @delo
06M .

b) oo wWRcuemsd

(@emoem@siiad mmoaec® Widato

- {3)

B0 (1510638,

(vertices)
(0, 4, 1), (4, 5, 0) ooy,

&ysvem emaesowias (2, 4, 0) enw

(1).

(1)

(1)

(3)

@)
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ig. a)

)

- using first principles. (2)

17. a)

b)

Answer any five from question
numbers 18 to 24. Each carries
SiX Scores,

138, a)

b)

K-440

U= {x:xisanatural number, x < 12}

 A={1,4,6,7,8}, B=1{2,4,5,7,9],

1) Represent these sets in a

Let

x+k if 0<x <2

)= 2
f(x)= |x2+3 if 2<% <4

9 f(x) exists, find the

value of k. (2)
Find the derivative of

flx)= x?  with respect to x

Write the converse of the
statement.

"If = is divisible by 9, then it

is divisible by 3". | (1)
Using the method of

contradiction, prove the

statement ".\/5 isirrational". (3)

(5)(6:30)

Which one of the following
represents the intersection
of the open intervals (1, 5)
and (3, 7)?
B (1, 7)
11)(5, 7)

11) (3, 5}
) (1,3) (1

Consider the set

C={3,5,6,7,10}

Venn diagram. (3)
ii) Find A- (BUC). (2)

6

16. a) f(x):{

808mMIm)e 6 Mm@ allme.

153

2¢+k; 0<x < 2
x*+3; 2<x <4

Lim e
oo T flx) olamad

HOIMY af@I@ £ wies ol

OB, (2)

| b) f(x):x2 -0  aoleugial,

anaug ST ol afldbay”

90 ICQOUIla] EeENBETEIE:. (2)

17. a) omsleaym n®oaimwes

Allidl® imsmonim Qg)PL® .
"If x is divisible by 9 then it
is divisible by 3". (1) 7

b) "5 is irrational” agm

(IUBIOUMEIW CoerSWldatad

Soleld eoginlene. (3)

18 ajomd 24 cuenwygs eoldeyemglad
a@emssiale 5 af)gRamlal HEMEanw® s,

(5 x 6 =30)

18. a) (1, 5),(3, 7) agar] &oqerd

MBRBOAULYMHRIONS  MVONDE D)
mgallaflammmae) oma?

1) 1,7 i) (3,5)

i) (5,7 iv) (1,3) (1)

b) modidleam memames

o I@lenil 618,

U = {x:x a0 agemad quosy, x<12}

A=1{1,4,6,7,8}, B={2,4,57,9},
C={3,5,6,7,10}

i) solew 80} e

WRMETG cosungsome.  (3)

ii) A~ (BUC) @oemye. (2)
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19. 2a)

b)

c)

20. a)

b)

21. a)

b)

T ) }
Convert - radians into

degree measure.

A and B are Acute angles and
TcmA=}~, Tan B =1_
: 2 3

Then show that A +B=45°

In any AABC, if

a=18cm,b =24cm and

c=30cm, find CosA using °

Cosine formula.

Solve 3(x-1)<2(x-3);xeR
and show the graph of the
solution on a number line.

the

inequalities

Solve system  of
graphically
2x+y 24, x+y <3 and

2x-3y <6

How many 6 lettered words
can be made from the letters
of the word SUNDAY? How
many of these begin with A?

A candidate is required to

~ answer 9 questions out of 12

K-440

questions, which are divided
into two parts. Each part
confaining 6 questions.
Candidate is not permitted
to attempt more than 5
questions from either part.
Find the number of different

ways of choosing 9 questions.

ey

(2)

(3)

(2)

4)

(2)

(4)

19. a) 112 o) sowlwmd @salem

20,

21.

b)

c)

b)

a)

b)

gl @renIossl @mages.

A, B s mym esoemsaoen,
1
amsoom  TanA = 3 2o
1
Tan B = 3 e @D o

A+ B =45 agmy emalaflen)s.
@lesoeme ABC oldt ¢ =18
om.al, b =24 acv.ol, ¢=30
o.al agmldd Cos A ges allel
£&00OMM L@ CUD RO

801eOUlo] SHOMEEN)E:.

3(x-1)<2(x-3);xcR

IRELOOEME HIPD. WIBELOLEM |

Dieljo B} Mol sosuwlwd

COEUOQISIOTH)H.

®MlGlenM BRIOGE:O8 (N0l
Saleowlay aldavoeemo
6).2.JQ) .

2x+y 24, x+y<3,2x-3y<6

6 eroemoamnsdd aflme odeals,

ag)@ uoeenie® SUNDAY
of)(M QISEEIEd Mlom HeNB0E600?
a1 ofl® UoeeE:® A
ag)m

apoolasniomy?

@ @ e 6

12 eapaem®d eweqisiom &y
¢210@)eala|dlal eene @oms&eg&rﬁ
0e00 somamye 6 allmo eatoay
FBRIMIENE. B} AoTOOOdL @a&;
9 6o10B)IBRHE HTTRODYI® ).
alGy B06R0 EONEmMMINM)o & @
SO CoIOBYEIBWR of)PImmT.
of®le  age  ollwewlc 9
ColOGYTBMW OMmOESTMNSIBN0.

(1)

(2)

(3)

(2)

(4)

(2)

(1
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22. Consider the frequency 22, woey ommidesim epudemm alga
distribution table. aB1EOUIBE) 0.
Marks
. 0-10 | 1020 | 20-30 | 3040 | 40-50 | 50-60 | 60-70 | 70-80
@O HE)
Number of students
4 8 g 10 7 5 4 3
alispd@aleans agene :
a) Find the median. (3) ) o 06, (3)
b) Find the mean deviation b) Ao @) M alc 00 &6
about the median. (3) Sad allofleadd &:06m)e. (3;
23. Consider the data given below. 23. @09y esosEwlclen)m  Wwog
' alEl BUAIUI e .
x; 4 | 8 11 17 20 24 32
f, 3 5 9 5 4 3 1
J
a) ‘Calculate the mean. (2) a) @Owio 06, (2)
b) Find the standard deviation. ' (3) b) @odewdo’ adlolewand
¢) Find the coefficient of BHOETO15, 3)
variation. (1) c) mcﬁao;}g)amqaﬂc@” @oad COIRlEan®D
S06M) . (L)
24. Inaclass of 60 students, 30 opted 24, 60 oglegias ey gomilad 30 said
NCC, 32 opted NSS and 24 opted NCC wpo 32 eatd NSS g0 24 @ald
both NCC and NSS. If one of the DENBle HMEAETHSIA®). & oM@
students is selected at random, alomge &0y HiSle@ oodaadw]
find the probability that ofsS)EMO@, @oey @onlalEnim
a) The student opted NCC or elatosnienfieg] @emenoEss.
~ NSs. (2) a) &gl NCC mmogsidd NSS
b) The student has opted RTINS SO0 BT, (2)
neither NCC nor NSS. (2) b) @51 NCC wie NSS se
¢) The student has opted NSS - oooasms@adidenimasd.  (2)
but not NCC. (2) ¢) os NSS amoastmsieemwo
' aingy NCC eo06emms @adwi-
oe@amg,r.égg_ggmx“. (%
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